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(A #H] ouT IN | GROSS| HDCP | NET
AR =E R SHTBG St 38 40 18] 12.0] 66.0
=E 8% BEms2 39 40 191 12.0] 67.0
AR # EREMS3 40 42 82| 14.0] 68.0
Z)Il BfF BHm™ 41 41 82| 13.0] 69.0
1 FR™ 44 40 841 15.0] 69.0
BRIR = ™ 317 43 80| 10.0] 70.0
INBRIR {FREA B 40 40 80| 10.0] 70.0
HE HIE feE] LU T 41 41 82| 12.01 70.0
Rt IERR ™ 40 45 85| 15.0 70.0
NHE EtH SES 38 41 19 8.0 71.0
ma % B 42 40 821 11.0] 71.0
TR E feth 41 43 841 13.01 71.0
g &= [ LU 44 42 86/ 15.01 71.0
A BR feE] LU T 39 47 86/ 15.01 71.0
HE EX ) LU i 40 41 81 9.0 72.0
wBa B— feE] LU T 40 43 831 11.0] 72.0
N R=E st 40 43 831 11.0] 72.0
LER NS S BHm 44 42 86| 14.01 72.0
R B ) LU i 41 46 871 15.01 72.0
BEH = feth 43 44 871 15.01 72.0




